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(For the candidates admitted from 20122013 onwards)
B.Com. DEGREE EXAMINATION, NOVEMBER 2017.
Fourth Semester
CORPORATE ACCOUNTING —II
Time : Three hours Maximum : 75 marks
PART A — (10 x 2 = 20 marks)

' Answer ALL questions.
1.  Explain Amalgamation. -
‘gandlenaniy’ upd efeul.
2.  Write note on purchase coﬁsideration. :
Qerarpge wmwer uHHl GHILIY cueTs.
3.  Explain Re organisation a/c.
o SiepLoliy sawré@ upsl edeul.
4.  Who are preferential creditors?
erayflenid HLafEGHT eremLieuiT w2
9. What is meant by statutory liquidity ratio?

gL pepwurer Binsseneio NS sLD eTanLig) eremen?



10.

11

Explain the meaning of non-performing assets.

QeweuLr GCerggsser  eamgen  Qummeflanan

eflemé @

What is meant by double insurance?

Qe s srilSH eremugen QuTHaT eremen?

Who is insurer?

sTUNEH Sieflliueur ereueuim wimm?

What is meant by parent company?

Ml Hlmeuanid eresiigen GlLm(meT ereme?

What is meant by minority interest?

Apurarenwit 2 Menwo eremLiger CLimmer ereme?
PART B — (5 x 5 = 25 marks)

Answer ALL questions, choosing either (a) or (b).

(a) Explain various methods of calculating
' purchase consideration.
Qamarpged wLOUWmaT samTEHHD  LOGaum

panpaaer LHM elleréd 6T(psIs.

Or
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(b) “STG” Ltd was taken over by ‘RTG’ Ltd. The

following positions was mutually agreed

upon.

STG Itd RTG Ltd
No of shares : 60,000 90,000
Face value of shares 100 10
Net assets 36,00,000 72,00,000

Ascertain intrinsic values of shares, ratio of

exchange and number of shares to be issued.
"igg”  flpeuend  “erevyed”  Fpauasms
iy delisg). SibHneamser QLTgeuTs Ui
GemerL eflaywiniser ECp Qarh&sLL Hdrerar.

erevig @ Flmieuemb  ofiiggl Amieumd

uiigseflen eraanilGons 60,000 90,000
ubigsefer 1ps i 100 10
Hey Qensgisae 36,00,000 72,00,000

Blar Qerggisser <igliuemLule UBIE eenler
oy ukigser uflorpy elfsbd  LHDL
Blmieueid QouafludL Ceuewriqws  umi@Gefler

aramanfléans < dlweihem saTédlL 6.
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12. (a) Liquidator is entited to remuneration of 3% (b) Give journal entries for the following

on assets realised (including cash) and 2% on v transactions in connection with internal
amount distributed to unsecured creditors. reconstruction.
Rupees ’ (1) 30,000 equity shares of Rs. 10 each
Unsecured creditor 40,000 (including preferential 1 fully paid reduced to shares of Rs.5
Debentures holders 51,875 . creditors Rs.5,000 each fully paid up.
Liguidation expenses 510 (i) 300 9% debentures of Rs.1,000 each
Cash in hand 1,000 converted into 1,500 12% debentures of
Assets realised 7,900 100 each

@i1i)) The debt balance of profit and loss
account Rs. 1,50,000 and the

Gemsg lpumar Agrasude (Grméeb o L) preliminary expenses of Rs. 30,000

3%  sgeligupd, Woaruwpp SLSBEEHEE were written off

Qegugsii(b  Gsrensuiey 2%  sgeisplb,

sarfliions Gup  sowelurersE o flaw

Calculate liquidator remuneration.

(iv) The value of plant and machinery and
stock were written down by Rs.60,000 -

it bl and Rs.30,000 respectively.
- .
Wenanmwuopp sLabCsmt 40,000  (pearayfeaw sLatbCsm 20T Log) EFeLoLiy ETHE PL el S@EEnbEETan
: S Y PesHEHUCLLEH udeleman er(ais.
LTSS TSI 518756 . 5,000 Garbgyererg)

510 O ukE gamse 10 mumi Qegssiul L

sl QFaey
30000 engmyent LikI@seT, LIGIG @améE 5

: 5 gy il 1,000
sl @mLiy Qrrésnd eI QegissiLLl L LIBIGEaTTS
Qenggiseer efhLieman 7,900 GODssLLEADS)

seoaUurariler safluisms HaTssL_e . (i) em. 1,000 wdiyerer 300 9% sLai_()
G usdlgrser, ep. 100 wdiiyerar 1500, 12%

sLT () ugdlyhiserts DDLU Hararg).
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13.

(a)

(i) eomu Bl sansdld oeter LDy CAsTans
(Blw) epumi 1,50,000 wpmid Csr_és
Qeeveyser epumis 30,000 yslueupenm
sasSledpHg Basab.

(iv) sereurLib wHMID QuIbHTHisET, Fr&sl(HLI
flweupdler wdHinde emumi 60,000
wHmd 30,000 mumi wanCu Gaonss)
STLL_@|LD. : '

On 31t March 1998, a bank held the
following bills, discounted by it earlier.

Date of the bill  Termsof Discount % pa Amount

the bill ~of the bill
January 17, 1998 4 17% 73,000
February 7, 1998 3 18% 1,46,000
March 9, 1998 3 17.5% 36,400

1

2

3

You are required to calculate rebate of bills
discounted. Also show the necessary journal
entry. :

31, wrié 1998 ojatm, eumdl e euFpeTer
Spssar el Qeiwdulc wrom &G

DL HEeLOSEMET SHEDSI:

wrHo Qegiss  per@suy  UsSy
& QaallanCsd Cauamqw  szeisnd - Cstes

sTQsH

saneulf] 4 17% 73,000
17,1998 1
Giapeurf] 3 18% 1,46,000
7, 1998 -
woni& 9, 1998 3 17.5% - 36,400

g S.No. 1008

el Lib Qeuwiule wrhy FGseflar Bgrear
SETEHLLY.  GTELAUETE| GTATUMNS SEMISSLG|D.
Cogid  ispeilu  wspEdily  Ldesmer
(PS5,

Or

(b) From the following details relating to a

banking company, find out profit balance
carried over the balance sheet.

Rs.
Interest earned 5,25,000
Other incomes 2,20,440
Interest expended 1,25,000
Operating expenses 1,83,686

Profit b/f from previous year  1,00,640
Transfer to the statutory reserve at 25%.
amd sbQuailer SpssarL  elLgBIGeT
sigtiueLe @ouy fleow Giluuse dOssl
Qeever Gouekriql  GTULD GTEUGUETEY GTRTLINS
sewTL_HleyLb.

€.
QUL_lq FFLIg U1g) 5,25,000
9D eu(HLOTETBIGET 2,20,440
iy QFasSwg) 1,25,000
Blireurs ClFawe &6 : 1,83,686

Qaenn e eu@uarra-mb
&1p Qs curliLl L gl 1,00,640
slLpep sy Bl &6 2526 QLSS LDTDHNE.
7 S.No. 1008



14.

(a)

@)
(1)

(iii)
(v)

)

(id)

@)
)

The life fund of a life insurance company on
31.3.2016 showed a balance of Rs. 5,40,000.
However the following items were not taken
into account while preparing revenue a/c for
2015-2016. Calculate correct amount of life
insurance fund.

Rs.

Interest and dividends ,

accured on investments 20,000

Income tax deducted at

source on the above 6,000

Re insurance claims recoverable 7,000

Commission due on reinsurance

premium paid - 10,000

Bonus in reduction of premiums 3,000
31.3.2016 SO BleveuriiLig,

ueTETUEL @ fineuangder e B QoY
mumi  5,40,000 o.drerg. pemmed SpseanT
ugiigener, 2015-16 b Yy @HssTE
aporer samsms swurflagn GCurng a(sg

Qamererelleveney.  aflwmer  pujeraTilGL @
Blflenws seanréd(Hs.
; Rs.
W& L1g6m LBFTE euL_ly LoHMID
UBISTSTUILD FalqLig) 20,000
Gupseamm_ aumorarsSnans
eugonar aufl sflEsiu L g 6,000
@1ii) wpsrSE Carlsmsudie Qup sigwg 7,000
wysTISE woansder Bsrer
Qar®&s Ceudmgw S1@E 10,000
wpeanobd @Gapuinarear Gureray 3,000
Or
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15.

(b)

(@)

From the information given below, you are to
find out the amount to be appropriated for
reserve for un expired risk in fire insurance.

Rs.
Premium received during the
year ended 31.3.2016 12,00,000
Re insurance premium 3,00,000
Bonus is reduction of premium 50,000

SpssaL gaeumsailallhig 00 (LpigeuamLwITg
usHnarar sTiy  Hlé  ereueuaTey eaLIMS
SewTLHiwI6Lb.
..

31.12.2016- & (pigeuenL_wjid

<TG DSTET (LPEETLOLD LD DG 12,00,000

LOMISTLIL| (LPEN LD 3,00,000

e GamnssQissTear GLmeren 50,000

‘S’ 1td has a capital of Rs.2,00,000 is shares
of Rs.100 each out of which ‘H Ltd
purchased 75% of the shares at Rs. 2,40,000.
The profits of ‘S’ Ltd at the time of purchase
of shares by H Ltd were Rs.1,10,000. S Ltd
decided to make a bonus issue out of pre
acquisition profit of one share for every five
shares held.

Calculate cost of control of acquiring ‘S’ Ltd
shares

(i) . before issue of bonus shares

(ii) after issue of bonus shares.

9 S.No. 1008



‘S sb@Quefl@er ep. 100 wFlyerer UmEG
apagard ep.  2,00,000 Qeupdlelimps H
sbQuafl 75% sseis uki@samen m. 2,40,000 &@
auriiflug URIGEmeT QIE@D srogsde S
sbQuealluder savsdld . 1,10,000 eomuwons
Qobss. H @mps S sblual LG

QareTps®I&EE paranm @@mbs Oruse 5
uRIEsdT @ausdmutunmss 1 urm@ GTeuM

fzsHer Curmamey umi@s®er  Gouafluli
iy deupsgiaTens).

@sen sigliumiwde s_Qur® Geleugpsarar
Qeeay GTEUAETEY TALIENS Speu(mHid
Ghhlamasafie) ser[Hy.&s6 L.

() Qeeus LRIGESET QULRMEIGEISDE (P
(i) Qeeus k@S eupREL IDE.
Or

(b) Consolidate the following balance sheets.

Liabilities HLtd SLtd Assets HLtd SLtd

: Rs. Rs. Raiii > R
Capital Rs.1 900 shares in

per share 1,400 1,000 ‘S’ Ltd 1,200 -

Creditors "~ — 500 Sundryassets 200 1,800

Profit and
loss alc - 300 i R
1,400 _1—,80_0 1,400 1,800

When H Ltd acquired the shares in S’ the
profit and loss a/c of the latter had a credit
balance of Rs.200?
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S —

Qg,rr@uq @@uq@m@ Ghilienu swmiésayi.

Qurming H Qensgdeer M S
& sGlued a;m@uecﬂ sbGuall  swCua
M- (W : O: -
ApBETLD 900 umigser
.1 1,400 1,000 (s sselaauidr) 1,200 -
sLaBCHmT - 500 upue
QML BLL . Qenggissar 200 1,800
sl = 300 ¥
1,400 1,800 1,400 1,800

‘S sbQuellear eru BLL samréde @m. 200,
‘Hell umi@smer eummkidlu CurCs @@uum’%
Bobsy.

PART C — (3 x 10 = 30 marks)
Answer any THREE questions.
All questions carry equal marks.

16. The summaried balance sheet of Grey ltd and
Remy Litd as on March 31 were as follows.

Liabilities Grey Remy Assets Grey  Remy
Ltd Ltd “Litd Ltd
Share of Goodwill - 60,000

Rs. 10 each4,00,0003,00,000 Fixed assets 3,00,000 1,20,000
40,0001,20,000 Current assets2,10,000 1,40,000
P & L alc — 1,00,000

Creditors

Profits and

loss alc 70,000 -
5,10,0004,20,000

5,10,000 4,20,000
11 S.No. 1008




Qumpliyser &Gy

Grey Ltd resolved to take over the business of
Remy ltd. The share holder of Remy Ltd agreed to
accept shares on the basis that the shares of Grey
Ltd were worth Rs.12 each and shares of Remy
Ltd were worth Rs. 5 each.

The purchasing company took over the fixed
assets of Remy Ltd together with current assets
and were not required to pay liabilities. Make
journal entries and prepare balance sheet in the
books of Grey Ltd.

wiE 31 SeCpr® piyeuemwb HCr sb@uel wHmbd
Qpfl  sbQuelseiar  @muy  BHeoe GOy
SLpsarTL_eumm). »
Qu  Qenggisser  &GT Qb

swGueafl sLGEUET sual swGuefl

10 emum - pHQuur — 60,000
wdliLjerer Hlenew
URIGSET i Qemsgissar 3,00,0001,20,000

apagerd  4,00,0003,00,000p Ly
sLabGsmi 40,000 1,20,0000sm3g 5561 2,10,0001,40,000
QMU BLL © T BLL

&G 70,000 -5/®

—1,00,000

5,10,0004,20,000
&Gy swGuafl Gy suaiew iy Geduw
Wy Qeaudsgererg. Gmf sbQuafliier LmEgTTTEeT
seg UREG emdler wdoy e 5 aaeyb. &Gy
sp@uafuder ukiE eeadar wEHUY . 12 gl

5,10,0004,20,000

Qe (hereren.
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17.

mity  Gelwynd  swluell GQpiblsb@ueiuler  Hlane
Qersgidser  wHHD BLUY Cderdgisser  a(HSg
Qanam@erarg. <pemed ~QummliLseer eSS
Ceuamrigwiglebena. ’ )

HCr svQualler g@seler LHAGL WSHEGHIIL
udeysearbd, @@mUL Bae @illiamuubd surflésab.
Prepare liquidator final statement allowing for his
remuneration at 2% on the amounts realised on
assets and 2% on amounts .distributed -to

unsecured creditors (other than preferential
creditors).

Rs.
Unsecured creditors 2,24,000
Preferential creditors 70,000

Debentures TS 000

The assets realised the following amounts.

Rs.
Cash in hand 20,000
Land and building 1,30,000
Plant and machinery 1,10,500
Furniture and fittings 7,500
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The liquidation expenses amounted to
Rs. 2,000. A call of Rs.2 per share on partly
paid 10,000 equity shares was made and
duly paid except in case of one share holder
owing 500 shares.

sooluuraiar  @nd dsmsamwu  FuThEsead.
geooLutarT 2% gFsaisb OQensgisser  elhuaan
Qsrensigid Weamloar sLatbCsmses Cegissid
Qsrensler 2% ssaisupd (earaiflen s_afbCsm
brisers) sbuerd Gum 2 fawujarereurrdpm.
Rs.
Weremmublever sLaibGsmt  2,24,000
wpanayflenwo sL_atpCsmt 70,000
FLeTISSEIGHeT 75,000

Qenggisser efpueaer efleurid

Rs.
il Ayrésid 20,000
Hlevid HMID &L iqL 1b 1,30,000

gereurL_1b wHmib @upSHgasdr  1,10,500

DIDICUNE |G DFHEVETEHET 7,500
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18.

Bmeuar somely Oswey Ostens 2,000 ued
_Q&QJ{&;QUJ uiigarpiser  10,000. ep. 2 Senpliy
Qgmenswng  Ceqss CQuplulg. eaflgid @@
urigsTrT eeugglater 500, URIGSERSSTET Cgmens
UG THEN M. '

From the foillowing information prepare the profit
and loss account of ABC Bank Ltd for the year
ended on 31st March 2016.

Rs.
Interest on loan 2,59,000
Interest on fixed deposited 2,75,000
Debate on bills discounted 49,000
Commission ; 8,200
Establishment 54,000
Discount on bills discounted -1,95,000
Interest on cash credit 2,23,000
Interest on current account 42,000
Rent and taxes 18,000
Interest on over draft 1,54,000
Directors fees 3,000
- Auditor fees . 1,200
Interest on savings bank deposxts 68,000
Postage and telegrams 1,400
Printing and stationary . 2,900
Sundry charges 1,700
15 ~ S.No. 1008



Bad debts to be written off amounted to Rs.40,000.
Provision for taxation may be made @ 55%.
Balance of profit from last year was Rs. 1,20,000.
The directors have recommended a dividend of

Rs.20,000 for_the share holders.

Spsam_ sauwsalambs ABC euridluler 31 wmig
2016 <anCor(® (piguaL LD <460TIq HESTET LI BLL

- saTEms HWnil&sseLb.

SL &G LSSTar eullg

Blaney CafliL gmer el iq.

O G UL sdlar Bgrer SeT(eHLil.

G

evgruemT Caaweyser

romE G eS8 FeT@EpLilg.
Qprée L LSg,ném aully

BLUL| SemréE Ssme euL_ig
aum_end HMILD el

auradl Goed Lipler Ligmer el g
QusEprseiean sl Lawrid
santlsanswimarflen &L ewrid
Gailliy eneutiyy Qgmens Wgmer aul_ iy
sume womibd GgraneCuédl Qeaey
(&6 LHOID 6T (P& LITHeT Qgaay

uHUe QFweser

16

m:
2,59,000
2,75,000

49,000
8,200
54,000
1,95,000
2,23,000
42,000
18,000
1,54,000
3,000
1,200
68,000

1,400

2,900

1,700
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aumrsLer BésiulLg Osrans ap. 40,000 eufiésmer
981660 55% egeipd. sLHE emyd Qmps S
QaewrpulL.  emud  5.1,20,000. ukiGsTITSEESE
. 20,000 wdulerer uksTETWD B, HliTeurs
QusEnrse (pige| CopblaTereriilLg).

19. From the following balance sheet relating to H Ltd

and ‘S’ Litd, Prepare consolidated balance sheet.

Balance sheet as on 31.12.2016.

- Liabilities H Ltd S Ltd Assets H Ltd S Ltd
Share capital Fixed assets 8,00,000 1,20,000
(Rs. 10 each  10,00,000 2,00,000 Stock - 6,10,000 2,40,000
Profitand Debtors - 1,30,000 1,70,000
loss alc 4,00,000 1,20,000 Bills
Reserve 1,00,000 60,000 Receivable 10,000 o
Creditors 2,00,000 1,20,000 Share in
Bills payable - 30,000 ‘S’ Ltd
(15000 shares) 1,50,000 =
17,00,000 5,30,000 17,00,000 5,30,000

(a) All profits of ‘S’ Litd have been earned after
shares were acquired by H 1td. But there was
already a reserve of Rs.60,000 on that date.

(b) All bills payable of ‘S" Ltd were accepted
infavour of ‘H’ Itd

(¢ The stock of H Itd includes Rs. 50,000
purchased from ‘S’ Itd. The profit added was
25% on cost.
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LIMkI&,

Spssan ‘H * sbQueafl ‘S * swQueafll @muybleae
GO mHg GasrEly @muybled @olleu summ
Qewiwie).

Qumgiiyser H sin@uafl S swuCuefl  Qenggissdar H snuall S snCuef

PGS EMLD

(em.10

Hlave

Qenggissar  8,00,000 1,20,000
& mLIL 6,10,000 - 2,40,000
sLememiser  1,30,000 1,70,000

wdiyererg) 10,00,000 2,00,000 QupsHeEiu

‘U BLL

&l®

smiLfls)
sLalbCsT

GegsshE i

wrHME. G

20.

(1)

(=)
@)

; wrHmF G 10,000 =
4,00,000 1,20,000 ‘S sbQuaf
1,00,000 60,000 umEseT
2,00,000 1,20,000 (15000
LIRI@E6T) 1,50,000 —
- 30,000

17,00,000 5,30,000 17,00,000 5,30,000

S sb@uaflifler @rib masgD LBIGSMmaT
H &l cummdlu Gp@ Fligug. <yemme sy
B8 5.60,000,. unigsemer eurhmdu e
aaullmuke @)mbss.

S sbCueaflear CQeqssp@fu  wrHHF @H
Smarsgid ‘H sbdualss deass Couamigig
H soQuafll gradlpude e 50,000 ‘S
sbCueailul_mhg eurmislulLg. 25% emulb
SiLsaeillaneuller Carssil_Lg).

Prepare revenue a/c of life insurance business in
prescribed form as per IRDA regulations and
explain the items there in.

uar sl Hpeasder  wrHfl  eumTen
sasams  @.rg.er  uflbgerssiiul L Lgeussle
swuriéseynd. Cuogud  Seupdler  GOIALHerer
saeuEamer afleufléEsab.
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